=

IRl K S e
104 8 &£ g7 #rRE L R4 4 ¥

\

F

-

Wi X 27 % 1§

AT 4 B ZAT16 F ~ 3 K AT 14T 0 £ 100 4 -
bi%"@éﬁ%%&.#) o

&

%;Laﬁﬁi’—ﬂ-a%\ﬂ %_'-- ‘T‘““'F -nﬁfi"
=4 E /._,E;iIE

o
S
s
?1
R
;:;;L
i\
1.\4
F*%
W
\_HL -
RN
(\x
<l
14- i

!
ik

R
<

BRM(E 1641 S50 FEZRAELLESE 2R F )

SRR XY P AT Sk P(X=XY =y)=k(x+y) > ¢ k5-#

x=12~y=123-

i k= (1) o

Xemgmipdodks (2 -

Yy mE(Y)=_ (3) o

EEP R EEX|Y=3)= (4) °

XBYarx SR #Hci (5) °

A\+'?EFF/Fﬂ A~BA L A4 2014 & ik 508 0 > AR E e b 7k
508 ' B%REmtikisF 506 A~Ba L ks ¥ ,10.50

\1’—"‘—rﬁ%fiffi”/a@2§7* ? (6)

SRR - p R F A (7) °

n,g”_r_—rﬁde,Bgral);—rﬁﬁeﬁqﬁgw{ (8) °

X, 240 p N@25) gt 2 B AT o kA R R BT & 5

i=1xi
S2 =ﬁzi”=1(xi—>?)2
a X PR (9)  A~peo

2
b. (n 51)8 PR (10) e e

X-=-2
\/_( )FR ( ) Aa\ Jﬁb °
iﬁ&“@#ﬁ * X, Xy, X, KO 3T E Poisson A fie e g8 > H 48 S S0

"F‘N

!

J>

W.O_cr.m_v+.ﬂ>_a.0_cr.m/gxa4
fﬁy:a:a
7?‘

H><

P
><| m:
:I»—\

Xn—i
fo=%" x-012,...
x!

£Y=DT X o RIP(Y=0)=___(12) - P(Y>D=__ (13) -



8

IRFEREFCRED IR G KR CRE DI HPIF(R,)ED FRFT o
Lenp AP S (R, )FR B35 1 AT s B3

R.=a+pR,  +¢&
H gt & & 4T
ik | R tiE P&
A JETE 0.022 X 1.926 0.057
R 1.131 0.223 5.071 0.000
a. FRY oxiEE aEIFRE (14)
b FRERC A A R RD AR TS S ¢ R R

LR ;_(&)_a i ke Q\-p@ﬁﬁ_(&)_o

= FRH(EFERT S L)

o F R HN(uo?)? - R A X, X, X,

a "+ ﬁwmﬁﬂyﬁ Lo EFW R R - 5 e (10 4)

b, rids LiE(i % - Pt L - PR A )2 ,ul—}‘io- I RN A B
8- Vi° (10 &)



